(B MREL)

B | 7rvy| KER | S BEF 4 24 | @# | YDS [LonG| SAF
1 T BIEX 52 |#E ZHRAK 4 5.5| 46.5 13 0
2 T 2 E PN 31 [HLE #Es 4 4 35 14 0
2 T IHK 95 |EN HA 4 4 24 9 0
4 T BFEH 54 (R EN 2 3 22 12 0
5 T RRX 97 |thaKk #HE 2 2.5 21.5 9 0
6 T PRX 94 |BMN RE 4 2 19 12 0
6 T EBK 33 [ =& 3 2 18 11 0
6 T ITHK 9 (o 2&% 4 2 12 9 0
6 T AKX 90 |&HF MM 3 2 11 6 0
6 T BRAXK 97 |¥FHh BN 4 2 9 5 0
11 T PN 41 | KB BT 3 1.5 11.5 8 0
11 T HhRX 95 [deim =i 1 1.5 11.5 7 0
13 T EiE PN 33 [/Mr E 3 1 13 13 0
13 T EFEX 75 |BE XiE 3 1 9 9 0
13 T BiEA 99 |fREE EAR 2 1 9 9 0
13 T AKX 68 [lLUA & 2 1 9 9 0
13 T BEEX 4 |BH E 2 1 8 8 0
13 T IHK 39 [A#W #&Ai 1 1 8 8 0
13 T PN 2 |E% & 4 1 7 7 0
13 T HEK 42 |=K HE 3 1 7 7 0
13 T HEK 55 |@EfT BE& 2 1 6 6 0
13 T BRJAK 99 |4k HA 4 1 5 5 0
13 T IHK 31 (B X3 4 1 5 5 0
13 T SIHK 21 |BHEW HE 4 1 2 2 0
25 T HEK o |[RE f&* 3 0.5 4 4 0
25 T BEX 10 |&F% HE 3 0.5 4 4 0
25 T PN 23 [/ g BBA 3 0.5 3.5 3.5 0
25 T BEREX 8 (R 1&% 4 0.5| 2.5 2.5 0




